Name: K‘CV Summative date

Expressions and Equations Part One Summative Review Guide

g hedelod:
1.) Solve (E) = \/3 3 3

» °\
Directions: Evaluate the fg}lowing problems to find the solution. Show all steps.
/\W
2) 20—-12 +6+ 33= 3.) 100-354(6+2)2=
333 \;
2\1/ | 0v-35+ 33
20 -\ 7-"-("'
\00 -35+04
20 "7—'\' - v +,4°
A (s 2.1 wStl
Dlrectlons For #4-12 write an algebraic expression using letters and/or numbers for each stat€ément below.
4.) The sum of 3 and fdoubled _ __3 ¥ Z‘F‘

e —

" : atb
5.) Thej.l_.lin of a and b and then divided by x (Q_'\'b) 3 x OK ———7<""'—"

6.) The product of cand 7 /‘ C

7.) 14 lessthanm __ - W\ - ‘ HP
8.) The quotient of g and h _35__ OK q ’h
e
9.) 54 divided by the difference bebveen 32andy 5‘* (32-\4) DR Z_v
10.) Katie is planning a birthday party at Zero Gravity. It costs a flat fee of $120 to rent the facility. Eac Each guest
costs an additlonal $7.00. Write an algebraic expression to show e total cost if Katie were to invite gdl

—

guests.

120 + "o

11.) Gavin worked 6 hours I&ss than triple what Steven worked. Steven worked h hours. Write an algebraic
€d i1 houes.,

expression to represent how we can find the hours Gavin worked.

5h_lﬂ 4+

12.) Korey made $5.00 Eepnowurrvbyking as a server at a nearby restaurant serving tables plus an additional

$32.00 in tips. Write an algebraic expression to show how much she earned in h hours.

5h+32

e



Directions: Evaluate the following alFebraic xprission given the value of the variable. 'LA"H' ﬂ‘\b
[ —1—
13.} The cost to rent a trolley is a flat fgg%f 1500 for the trolley, plus an additional $5.00 per passenger. The
#ﬂ

. : ——— '—_-—-.-.q—"'"
total cost of renting the trolley is represented by the expression: $15.00 + $5.00n, where n'is the number of

passengers on the trolley. How much would it cost if there were 12 passengers on the trolley?

\9+5n .
n=12 \5.,.5()2_3 2 Wil wH3¥75

54 0= he 2 e ey

14.) Brittany and Rachel are collecting pop tabs for a fundraiser. Brittany’s dad brought home a collection from
work of 18 pop tabs. Rachel started off with 9 pop tabs from her family’s recycle bin. Both girls then collect 5

additional pop tabs per ﬁy.
a.) Complete the table below to show how many pop tabs each girls saved in total after each day.

Day | Brittany’s Total Pop Iabs._ﬂ;chel’s Total Pop Tabs

w8 "9

1 1% |4

1Y L

3 %% By

"] 3% 29

5 M5 9 34
’ b-9

r+9

b.) Use your expression to determine how many pop tabs Rachel has when Brittany has 68 pop tabs.

b1 b=




wni vale,

15.) Bubbles the Clown is buying balloons for a party. The cost is $1.15 for each helium balloon. The party store

charges a flat fee of $15 for processing and delivery on orders, re—g;rdless of how many balloons are purchased.
Te———

a.) Complete the table below to show the relationship between the number of balloons purchased (b) and the

it

total cost.

Number of balloons | Total Cost in dollars

(.19 Ws()) s
11.30  us(@)hs
\§. 45  usns
4.0 wLis(H)+1S
0 20.50 504)ns
20 )} Li5(30)1S
. 12.50  \45(s0)ns
100 130 115 (o) 1 5

b .15 b 15

b.) Write an expression to show the reletiomrshiptretwagn the number of balloons purchased, b, and the total

?t g Datlowns N additiona) fee for pProcessing + dehivery
c.) Use your exprg_.%%’n &M}m the total cost if Bubbles were to purchase 130 helium balloons.

\.\b:/%D-\'\B—
149,50+ 15 = (1450

16.) Is 6n equwalent to n? Explain why or why not using examples and/or W, rk Ufh‘b'\ M

No! gz nsnsnentntn *mpu addiion

B W N| =

N> np-nen-n-n - * exponents show regaed
mwhpli cahion.

17.) Write an equivalent expression by combining like terms.

a.) b+b+b+b+b

\6 = 3 s ———

. equivalent expressions!!!

b.) 7y +8y-3

B Uxx]

d) 35 YAfADroe \L%jE)S'f’l




18.) Use the Distributive Property to write an equivalent expression for the following:

a.) 63r +49z ('3 + 4n(7 + 14)

W b.)
wr ‘ f{ Y dn+T + tn-14

KNO Common,

’l (°Ir+7z) e 28n+5pn

19.) Jim is remodeling the floor in a portion of his basement. He plans to use both tile and wood flooring as
shown below.

a.) Create an algebraic expression to represent the entire area of the basement. l 0 ’] (x + l 5)

= (10.7%)§0.7+13)

o 10.7x +13%.1

10.7

b.) Solve for entire area of the basement |fx— A= Z 55 e L}. 'PI'

(all measurements are in feet) — jo ’&q) + Bq l K
b, 21134,

20.) Mrs. Potts gave Marla and Barry this expression to evaluate: 5(10 3). Marla sald that to evaluate the expression you
must first find the difference of 10 and 3, then multiply that number by 6, Barry disagreed. He says that you have to find
the product of 6 and 10, then subtract the product of 6 and 3 from it. In the space below, solve the expression using each

student’s method. =
Marla’s Method Bar ry?%hod
6(10-,3) 6( 0

D | e

¥orker of 0p. * Dismbwhve ?'(W&r

Who solved the expression correctly? How do you know? Ebu_" k \ 8 “ fA Wﬂ/
RY LMy ¥ oan onswr o 42, Mavla sdvd W

_teder ¢ Qperdions  gad BMN mwhuA Yhe Dstyibutive
21.) Idegmrmegpartsofthealgebralcexpressmn I 8e_

a.) Base: i b.) Exponent: g‘ c.) Variable: g / d.) Coefficient: g

e.) How many terms are in this expression? 2—

4% ok B




